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1 What does the table show for the function f(x) = sinx?
A. The slope of the tangent at (0,0) from left. :
X sin x
B. The slope of the tangent at (0,0) from right. X
C. The length of the curve at (0,0). -0.1 0.9983341665
D. The limit of the function from left. -0.01 | 0.9999833334
-0.001 | 0.9999998333

2. Use the graph to find xllﬁr{l+ f(x) y

A =2

B. +2

C. -1

D. +1 -
3 Find lim 222

x—>2m X

A. 1

B. -1

c. O

D. 2m
4. Find  lim -

x—>-1" [x+1]

A. 1

B -1

c. O

D. -2
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x—1

What is the value of lim ?
x—-1" |—x+1]
A. 1
B -1
C. 0
D -2
. 2 <
Find the value of b, suchthat lim {235 +Db X = 0} exists.
x=-0(x“+2b—1 x>0
A. 2
B -2
C.
D. 3
. ax’—4a
The value of lim is
x—»—-2 XxX+2
A. —4q
B. 4a
C. —4
D. 4
. Sinkx |
The value of lim is
x—0 X
A. —k
B. +k
-1
cC. —
1
D. -
k
. x%43x
Find the value of lim —
x>0 sinx
A. 1
B -1
C. 0
D 3
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10.

2 2

Find the value of  lim >——
x—-a X—a
A. 2a
B. a
C. —a
D. -2a
11. ) 3-8
Find the value of lim 2
x—2 X—2
A —2
B. 12
C. 8
D. 4
12. . . Inx
Find thevalueof lim—
x—e X
A. Ine
B. e
1
C. -
e
D. O
13. -1

Find the value of lim ex2
x—0
A. 1

B
c. O
D

pMie 12
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14.

Find the value of ]im > where a #0

x—alne*
A. 1
1
B. -
C. 0
p. ==
a
15. _ . tan"lx
Find the value of lim ———
x—0 X
A 1
B -1
C. 0
D. Does not exist
16. ) ] 2
Find the value of lim cos —
x—2 x—2
A 2
B. —2
C. Does not exist
D. -1
17. : -
Find the value of lim Vx=2
x—=4 X—4
1
A. 5
B. —
4
c. -
4
D. O
18. Find the value of lirr(l) cos™ 1 x*
X—
T
A. >
T
B. - 2
0
D. 1
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19. | Find the value of lirr(1) 3x3(cscx)3
X—
A. 3
B. -3
C. 1
D. -1
20. . 1—eX
Find the value of lim er
x—0e“*—1
A. 1
B. -1
c. =
2
p. =
2
21. N 2
Find the value of lim X+7-3
x—2 X—2
A. 7
B. -3
C. -2
D. -
22. 37
Find the value of lim Va1
x-1 x—1
A. 1
B. 3
1
C. -
3
-1
D. —
3
—-2X
23. Find the value of lim = — °
x—0 Xx“+x
A. e
B. -2
C. —e
1
D. -
e
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24.

Find the value of

lim [i+ 2 ]

x—1~ lx—-1 = |x—1]|
A. 2
B -2
C. 0
D 3152 g0 _pic
25. . 1 6
Find the value of lim [— — — ]
x—-3 Lx-3 xX<—=9
A. 1
B. 6
c :
6
D. 6092 g0 _pic
26. 2x + 3 x<-—1
If f(x)={5 —1<x<1 ¢, Find lin}f(x)
2x + 3 x>1 *
A 1
B 3
C. 5
D Does not exist.
27. ) —24+h)348
Find the value of lim (F24h)7+48
h—-0
A. =2
B. 12
C. 8
D. 4
28. T sin(x2-9
Find the value of lim sin(x”-9)

x—>3 x2-9

A. -9
B. 3
C. 1
D. =
3
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29. Find the value of  lim x2sin( =)
x—0 X
A. 0
B. 1
C. -1
D. Does not exist.
30. If —5<f(x)<5 |, thenfind the limit lirréxzf(x)
x—
A. 0
B. 5
C. -5
D. Does not exist.
31. /1_ 2
Find the value of lim yi-(cosx)?
x—0t x
A. 0
B. 1
C. -1
D. Does not exist.
32. . 1— 4
Find the value of lim w
x—0 X
A. 2
B. 1
C. -2
D. O
33.

Llet lim f(x) =3 and lim g(x) = —2 ,then find the limit :
xX—a x—a

Y [fI]? —g(x) _
im =

e Jlg))?

A. 7

B -2

C -3
11

D. —
2
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34. | Find the value of lim [4x]
x—-1.75%
A. 1
B. 7
C 5
D. 4
35. One of the following is not of the conditions of continuity of a function
D. The function is defined at that point.
B. The limit of the function exists at that point.
C. The value of the function is equal to the limit at that point.
D. The function is a polynomial of degree n.
* Let f(x) = {% x# -1 )
a x=-1
What the value of a that makes the function continuous?
A. 1
B. -1
C. 3
D. -3
37.

Find the intervals of continuity of the function f(x) =+v1 —x

A. (1,00)
B. (—1,00)
C. (—o,1]
D. (—oo,—1]
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** | Determine where f is continuous, for f(x) =
VinX
A. (1,00)
B. (0,0)
C. 10,1]
D. (0, 00)
39. 5%x 0 <x<5000
The function of tax is givenas, T(x) =
15%x —a 5000 <x < 15000
Find the value of a which makes the function continuous.
A. 150
B. 500
C. 15
D. 10%
40 llet f(x) =V16—x2 and f(c) =w = 2v3, where c € [0,4].
Find the value of ¢ by using the intermediate theorem
A. 12
B. 2
C. =2
D. +4
41. | If the function f(x) = x> +4x%2 —9x + 3 has a zero in the interval (0,1).

and f(0) =3,f(1) =—1,f(0.5) < 0, then after bisecting, which interval

contains that zero.
A. (1,0)

B. (0,0.5)

C. (0.51)

D. (—1,0)

pMie 12
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42.

Find the values of a and b such that f(x) is continuous

ae* + 1 . x <0
fl) = Sinflg ’ 0<x<?2
x2 —x+ b ¥ x>2

A. a=—1;b=§+2 Ca=+1sb=-2

B. a=—1;b=§—2 D.a=+1s5b =42
43. | What is the interval of continuity in the graph? )

A. (0,2) )

B. [0,2]

C. (0,2]

D. [0,2) ‘
44. 2x%+3 x< -1

For the function f(x) =4 5 —-1<x<1 , f(x) is
2x — 3 x>1

A. continuous at x=-1 and discontinuous at x =1

B. continuous at x=1 and discontinuous at x = -1

C. continuous at x=-1 and discontinuous at x =5

D . continuous at x=-1 and discontinuous at x =3
45. Determine where f is continuous, for  f(x) = cos™1(x — 2)

A. [-1,1]

B. [—2,2]

C. [1,3]

D. [—1,3]
46.

If lim f(x) =+c forsome real number a , then
x—a

A. x = a isavertical asymptote.
B. x = a isaslant asymptote.
C. y = a isahorizontal asymptote.

D. y =a isaslantasymptote.

10
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47. If lir_El f(x) = a where ais areal value
x—+oo
A. x = a vertical asymptote
B. x =a slantasymptote
C. y = a horizontal asymptote
D. y =a slantasymptote
48. Find the limit lirrz) In(1—cosx)
X -
A 0O
B. o
C. —
D. Does not exist.
49. . x+1
Evaluate xll}rzlz GhGaD
A =
5
B. 0
C. o
D. Does not exist.
>0. Which of the following is an asymptote of the function f(x) = ﬁ ?
AL x=3
B. x=-1
C. y=3
D. y=-1
S1. Determine the asymptotes of function f(x) =tan™!x.
A x=+-=
2
B. x=+1
Vi
C. y= i;
D. y=41
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3_
>% | Which of the following is an asymptote of the function f(x) = 38x_x31 ?

Al x= -
8
B. x=-8
C. y= -3
—1
>3- | The function f(x) = 1x__x12 has a hole at:
AL x=1
B. x=-1
C. x=4=1

D. Non of the last.

>* | What is the oblique (slant) asymptote of the function f(x) = Zzi;l ?
AL y=2x—-4 C y=x-2
B. y=2x+4 D. y=x-1
>> | Which of the following is an asymptote of the function f(x) = x31—_xx27—7 ?
AL x=0
B. x=-1
C. y=-1
D. y=0

1

56 1
Which of the following is an asymptote of the function f(x) = e ?

AL x=—
B. x=0
C. y=-1
D. y=1
s 12 Laila dasa ALY e o sbailly Bl pen jlle s 3ELY) slae)
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57.

A.

o 6w

40
12
30
16

Suppose that the size of the pupil (cxx) »%) of a certain animal is given by f (x) (mm), where x is
the intensity of the light on the pupil.

Where, f(x) =

80x~ %3460

—————— . find the size of the pupil with an infinite amount of light.
2x~03+5

58.

O O wm >

=2
lim (x? —2x —3)3
x—--1

59.

A.

B.

C.
D.

0

(0]

4+ oo

Find lim(x sec® x)
x—o=
2

60.

Find the asymptotes of the function f(x) =
A. x=14

B. x=42

-X
Vx2+4

C. y==14
D. y=41

61.

A.

B
C.
D

Determine the asymptotes of the function f(x)= Z

x =14

—x2%+4

13

pMie 12

Ll deae 1 3ULY) ae g sladlly Gl cpea e 36LY) dlae)




3
°2 | Which of the following is an asymptote of the function f(x) = sec‘l(izii) ?
A x=-1=
2
B. x=-—
2
Vi
A
63. Determine the asymptotes of the function f(x)=4tan"1(x) —1 .
A x=14(G) -1
B. x=44-1
C y=+43) -1
D. y=44-1
2Xx
®% | Which of the following is an asymptote of the function f(x)= 11r;((21+_+eex)) ?
A x=0
B. x=-1
C. y=0
D. y=2
e Find the limit lim (V4x2 — 2x + 1 — 2x)  (Hint, multiply by the conjugate).
X—00
A. 05
B. —0.5
C. 15
D. 1
66. If lim f(x) =a and lim g(x) = oo,then find lim 1)
X—00 X—00 X—00 g(X)
A a C. —a
0 D. o
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